Industrial Revolution Paragraph

1. Overall, do you think the Industrial Revolution was more negative or positive?

2. Use articles provided in class (mrsomogye.weebly.com) to find three reasons to defend your argument.
Reason #1: (concrete detail #1)
Quote that Supports:
Name of Author this information came from: ___________________________________

Page Number that this information came from: ______________

Reason #2: (concrete detail #2)
Quote that Supports:
Name of Author this information came from: ___________________________________

Page Number that this information came from: _____________

Reason #3: (concrete detail #3)
Quote that Supports:
Name of Author this information came from: ___________________________________

Page Number that this information came from: _____________

3. Write down the bibliography information for all of the articles you have used. (Only fill the information out for as many articles as you used)

Article #1


Author’s Name:



Title of Article:


Date of Article:


Name of any sponsoring organization: British Broadcasting Corporation
Date of Access:
URL:

Article #2


Author’s Name:



Title of Article:



Date of Article:



Name of any sponsoring organization: British Broadcasting Corporation

Date of Access:

URL:

Article #3


Author’s Name:



Title of Article:



Date of Article:



Name of any sponsoring organization: British Broadcasting Corporation

Date of Access:

URL:

4. Using your argument and reasons create a topic sentence that answers the question: Overall, was the Industrial Revolution more positive or negative?:

5. Begin to write a rough draft of your paragraph. Remember to follow the correct format for history paragraphs and include parenthetical citations.


Topic Sentence:


Concrete Detail #1: The _________ example that proves the Industrial Revolution was ________ is _________________.

Quote #1:


Analysis #1:A) Life before the Industrial Revolution Ex: Prior to the Industrial Revolution…..


     B) Explain quote (how life has changed in a positive or negative way)



     C)”connect” – restate argument. Ex:  ______ proves that overall the Industrial Revolution was more ________.

Concrete Detail #2:


Quote #2:


Analysis #2:


Concrete Detail #3:


Quote #3:


Analysis #3:


Concluding Sentence:
